

# QUICK REFERENCE SHEET

## LOCATION

We are located on the ocean in Laguna Beach.

20 minutes / 14 miles from Orange County Airport ( SNA ) 60 minutes / 54 miles from Los Angeles Airport ( LAX ) 85 minutes / 71 miles from San Diego Airport ( SAN )

#### TRANSPORTATION

Several services are available at varying costs.

#### ACCOMMODATIONS

167 deluxe guest rooms and suites overlooking the Pacific Ocean.

All guest rooms feature: Private balcony Large windows with plantation shutters Custom furniture Plasma television CD / DVD player

iPod-ready stereo Fully stocked mini-bars In-room safes Ironing boards Luxurious terry cloth robes

#### AWARDS

AAA Four Diamond Preferred Hotels and Resorts Worldwide

#### MEETING / BANQUET FACILITIES

Approximately 10,000 square feet of meeting space offering an elegant ballroom, executive boardrooms and outdoor pre-function space.

Pelican Ballroom 2,652 square feet Top of the Surf 1,020 square feet Sand Castle 1,029 square feet

Groups of 10 – 200 guests Complete audio-visual services available Business Center Sand Dollar 1,218 square feet Sandpiper Room 920 square feet Seahorse Boardroom 480 square feet



Four Diamond

SURF & SAND

# QUICK REFERENCE SHEET (continued)

#### DINING

**Splashes Restaurant** - Beach front restaurant serving California cuisine based on fresh, local ingredients. Dine indoors or on patios terraced above the sand. Three meals served daily; casual attire. Our new Executive Chef Jeff Armstrong was recently named "Best New Chef" by Riviera Magazine.

**Splashes Bar** - A great spot for cocktails, light fare and dramatic ocean and sunset views. It is also a lovely setting for luncheons for up to 40 guests. Open daily 11AM - 12:30AM.

15FIFTYFIVE - With its fire pits, our open-air lounge is perfect for bites and cocktails under the stars.

Pacific Perk - Our convenient coffee shop, serving drinks and quick bites all day. Open daily 7AM - 8PM.

#### SERVICES

Room Service ( 6AM - 10PM ) Twice Daily Maid Service Complimentary Newspaper Valet Parking ( overnight parking charge ) Concierge Service Pool and Beach Service ( summer season ) Aquaterra Spa - Full Service Spa

#### RECREATION

Swimming pool overlooking the beach with an expansive sun deck Beach Volleyball ( tides permitting ) Fitness Center and Yoga Room

#### SHOPPING

Resort Gift Shop and Aquaterra Spa Beach boutiques and art galleries ( walking distance ) Shops at Mission Viejo, Fashion Island and South Coast Plaza ( approximately 10 miles )

## NEARBY ATTRACTIONS AND ACTIVITIES

Pageant of the Masters and Art Festivals ( seasonal ) Ecological Shoreline Reserve, Tide Walks Harbor Excursions: Newport / Dana Point Whale Watching ( December - February )

### AREA GOLF COURSES

Monarch Beach Links ( 6 miles ) Talega Golf Club ( 13 miles ) Strawberry Farms ( 15 miles )

### AVERAGE WEATHER

December - March	HIGH 66°	LOW 45°
April - May	HIGH 68°	LOW 52°
June - September	HIGH 75°	LOW 57°
October - November	HIGH 73°	LOW 50°

Ocean Sports, Sailing, Fishing and Jet Skiing Balboa Island / Catalina Island Mission San Juan Capistrano

Tijeras Creek ( 20 miles ) Aliso Viejo Golf Club ( 12 miles ) Pelican Hill ( 6 miles )



Four Diamond

SURF & SAND

# CAPACITY CHART $\bigotimes$ ROOM LAYOUTS

#### MEETING ROOMS

Dimensions	Square Feet	Ceiling Height	Theater	Classroom	Banquet	Conference	U-Shape
50' x 50'	2,500	9' to 11'	250	150	180	-	50
46' x 20'	920	9' to 11'	100	48	70	36	36
23' x 20'	460	9' to 11'	40	24	30	20	16
23' x 20'	460	9' to 11'	40	24	30	20	16
58' x 21'	1,218	8' to 10'	120	70	90	40	36
26' x 21'	546	8' to 10'	50	28	40	20	16
32' x 21'	672	8' to 10'	70	35	50	32	20
21' x 49'	1,029	8'	100	60	70	32	32
20' x 34'	680	8'	60	30	40	24	22
30' x 34'	1,020	8' to 9'	110	46	70	36	30
15' x 32'	480	8'	50	24	30	20	12
15' x 32'	480	8'	-	-	-	16	-
15' x 32'	480	8'	50	24	30	20	12
15' x 32'	480	8'	50	24	30	20	12
	50' x 50' 46' x 20' 23' x 20' 23' x 20' 58' x 21' 26' x 21' 32' x 21' 21' x 49' 20' x 34' 30' x 34' 15' x 32' 15' x 32'	$50' \times 50'$ $2,500$ $46' \times 20'$ $920$ $23' \times 20'$ $460$ $23' \times 20'$ $460$ $58' \times 21'$ $1,218$ $26' \times 21'$ $546$ $32' \times 21'$ $672$ $21' \times 49'$ $1,029$ $20' \times 34'$ $680$ $30' \times 34'$ $1,020$ $15' \times 32'$ $480$ $15' \times 32'$ $480$	$50' \times 50'$ $2,500$ $9'$ to $11'$ $46' \times 20'$ $920$ $9'$ to $11'$ $23' \times 20'$ $460$ $9'$ to $11'$ $23' \times 21'$ $1,218$ $8'$ to $10'$ $26' \times 21'$ $546$ $8'$ to $10'$ $32' \times 21'$ $672$ $8'$ to $10'$ $21' \times 49'$ $1,029$ $8'$ $20' \times 34'$ $680$ $8'$ $30' \times 34'$ $1,020$ $8'$ to $9'$ $15' \times 32'$ $480$ $8'$ $15' \times 32'$ $480$ $8'$	$50' \times 50'$ $2,500$ $9'$ to $11'$ $250$ $46' \times 20'$ $920$ $9'$ to $11'$ $100$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $23' \times 20'$ $460$ $8'$ to $10'$ $120$ $26' \times 21'$ $546$ $8'$ to $10'$ $50$ $32' \times 21'$ $672$ $8'$ to $10'$ $70$ $21' \times 49'$ $1,029$ $8'$ $100$ $20' \times 34'$ $680$ $8'$ $60$ $30' \times 34'$ $1,020$ $8'$ to $9'$ $110$ $15' \times 32'$ $480$ $8'$ $50$ $15' \times 32'$ $480$ $8'$ $50$	$50' \times 50'$ $2,500$ $9'$ to $11'$ $250$ $150$ $46' \times 20'$ $920$ $9'$ to $11'$ $100$ $48$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $58' \times 21'$ $1,218$ $8'$ to $10'$ $120$ $70$ $26' \times 21'$ $546$ $8'$ to $10'$ $50$ $28$ $32' \times 21'$ $672$ $8'$ to $10'$ $70$ $35$ $21' \times 49'$ $1,029$ $8'$ $100$ $60$ $20' \times 34'$ $680$ $8'$ $60$ $30$ $30' \times 34'$ $1,020$ $8'$ to $9'$ $110$ $46$ $15' \times 32'$ $480$ $8'$ $50$ $24$ $15' \times 32'$ $480$ $8'$ $50$ $24$	$50' \times 50'$ $2,500$ $9'$ to $11'$ $250$ $150$ $180$ $46' \times 20'$ $920$ $9'$ to $11'$ $100$ $48$ $70$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $58' \times 21'$ $1,218$ $8'$ to $10'$ $120$ $70$ $90$ $26' \times 21'$ $546$ $8'$ to $10'$ $50$ $28$ $40$ $32' \times 21'$ $672$ $8'$ to $10'$ $70$ $35$ $50$ $21' \times 49'$ $1,029$ $8'$ $100$ $60$ $70$ $20' \times 34'$ $680$ $8'$ $60$ $30$ $40$ $30' \times 34'$ $1,020$ $8'$ to $9'$ $110$ $46$ $70$ $15' \times 32'$ $480$ $8'$ $50$ $24$ $30$ $15' \times 32'$ $480$ $8'$ $50$ $24$ $30$	$50' \times 50'$ $2,500$ $9'$ to $11'$ $250$ $150$ $180$ $ 46' \times 20'$ $920$ $9'$ to $11'$ $100$ $48$ $70$ $36$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $20$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $20$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $20$ $23' \times 20'$ $460$ $9'$ to $11'$ $40$ $24$ $30$ $20$ $58' \times 21'$ $1,218$ $8'$ to $10'$ $120$ $70$ $90$ $40$ $26' \times 21'$ $546$ $8'$ to $10'$ $50$ $28$ $40$ $20$ $32' \times 21'$ $672$ $8'$ to $10'$ $70$ $35$ $50$ $32$ $21' \times 49'$ $1,029$ $8'$ $100$ $60$ $70$ $32$ $20' \times 34'$ $680$ $8'$ $60$ $30$ $40$ $24$ $30' \times 34'$ $1,020$ $8'$ to $9'$ $110$ $46$ $70$ $36$ $15' \times 32'$ $480$ $8'$ $50$ $24$ $30$ $20$ $15' \times 32'$ $480$ $8'$ $   16$ $15' \times 32'$ $480$ $8'$ $50$ $24$ $30$ $20$

#### OUTDOOR VENUES

Room	Dimensions	Square Feet	Capacity	
Pooldeck	73' x 28'	2044	100	
15FIFTYFIVE	50' x 30'	1500	60	
Ocean Terrace	48' x 22'	1050	60	
Catalina Terrace	76' x 30'	2280	120	
Aquaterra Courtyard	65' x 54'	3510	200	



Four Diamond Four Diamond Lugard

SURF & SAND

## PROPERTY MAP





